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2.8 FEE 0 450 -450 | A8 E R F 1 -450,0009= -450,000
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HAEETAAA, 25A) 1 10,00091 10.000
7= ’
3. [F1HALED 4,494 4,482 12
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1LIx]FT8aTLAATF 13,002 12,082 920
147188 5,900 5,000 900| A7) &5 : 900,000 17 L= 900,000
2. 48R 1,500 1,500 0
37w e e 5,602 5,582 20| 77N A A R -30,0009= -30,000
-l 50,0009 %17)4= 50,000
2. [ ALY 13,612 13,612 0
1. kg9 13,612 13,612 0
S PR Ry = 76,570 69,781 6,789
1. 717 A1 A Q17 44,298 39,235 5,063 2478 -500,0009= -500,000
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AR ET]IE] 1 -376,0009= -376,000
3. B E G EAH] 300 300 0
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5. 710414 A A Rk 1,917 2,160 -243 E:jg?%ﬁgfiiﬁéﬁiw I 80,000
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